KEEFIEZREREB(ARFE D) AIRBEST scrics

Horizontal Vacuum Entry Without Buffer
AZPR Series

(%)
=
'_
<
=
=)
wl
=
o

How To Order(B! SR <75 3%)

= Connection (#Z&AR ) On??];?o%ug;ﬂtmg \E’-r Connection (#Z&H ) On??];;);g;\;tmg
R - &t <
ik Vacuum Entry Direction ( E=A771@ )| Lateral ( /KEFE ) an Vacuum Entry Direction ( E=A77/8 )| Lateral ( KEF1E )
qaid Mounting ( REEZEHR ) Male Thread ( #MELi d I Mounting ( REEEFTR ) Female Thread ( R84y )

= %
‘ Table® ( FD)

Connection ( 4 ) ?VEEO; Tﬁ;g?ﬁ;ﬁgfad ©2~ 08 © 10~ 1620~ D32 B 40~ B5Q
= £
B | AZPR 02 U N-04-A - | 01 | oiwei®) | @ | @ | e |
Vacuum Entry "™
o P . e | Touch Fitting| 06 ®6 Tube(B &) ® ® [} o
@ 2@ 0 @ G (REOER) (bitaiz sl )
S 08 ©8 Tube(f &) - - ® d
1) (2 (3 Refer to the pad model on page 82 Malo A5 M5 x 0.8 ) ® -
@) Vacuum entry(Refer to table (1)) Thread A6 M6 x 1 () () [ ()
5 Mounting thread(Refer to table (1)) Mouning | ) g M8 x 1 - ° °
(=EE B4 M4 x 0.7 () - - -
EAR) Female B5 M5 % 0.8 Py Py °
Thread
( iELy ) B6 M6 x 1 - (] [ ] [ J
B8 M8 x 1.25 - - [ ) [ ]

Dimensions(mm)(3ME R ~F BI(Z X))
- Male Thread Connection ( MELHERE )

BEERER BREREAR BRREER BEBRREER
©2:-04-06-08 ©10-013-016 ©20-025-032 ®40 - 050

22 MA(M5) 22 M4(M5) MB(M8 x 1) Me(M8)
”
g 8
8=2, ‘8’ S=8, g
\ BREIME04-06-08 208
BEIMEO4-06 REIMEO4-06 = BEIMZ06-08
e °
S=10 i S=10

N
X2,/
==
1]

I T )
Refer to the pad dimensions on page 82 S:Width across flats

&K 4 R E NSO SARMBRY

- Female Thread Connection ( R&£0E )

BEAREER BEAEREER BEAREER EAREER
0204 -06-08 ©10-013-016 020 025 032 ®40 - 050

M6(M8)

20 M5(M6) 23(26) M5(M6)(M8)

P py 4 =Y .
REIMZDO4- D6 REIMZDO4 06 HEIMEO4-06-08 REINMEDO406

i 1

>
X
.I

—

I T
Refer to the pad dimensions on page 82

HERRERTE RS2

S:Width Across Flats
SR fAX i R~

4.86 “TECTTE






